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Answer either in English or in Assamese

1. Answer the following questions in one word
or in one sentence each : 1x10=10

©eTS Al 2PpTRd 2fScom $eq by 1% A 9b AT
frea

(a) Who was the ruler of France during the
French Revolution?

F0] [R2EE e FEE 99 @ SR 2
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(b)

(c)

()

(e)

(g)

(h)

U

22A/272

(2)

Who wrote -The Spirit of Laws?
The Spirit of Laws (It 5+ Ff2e 2

To which dynasty did Louis Philippe
belong?

o2 e @m e wifeE 2

Who invented the ‘Spinning Jenny’?
“fRoffey (EF ICT SRR SfRRe ?

What did Rudolf Diesel develop?
Foap fSree & 480 TR Sz ?

Who patented the ‘Kinetoscope’?
‘Kinetoscope’ G C*I6% (patent) fee1?

Who assassinated Archduke Franz
Ferdinand?
AR eT TG FRANGT @I 207 FRRE ?

Who founded Young Italy’?
R TN CPICH 515 e ?

Who founded the Irish Socialist
Republican Party in 18967

svob M@ Irish Socialist Republican -

Party (FICH F1o+ Faee 2

( Continued )

0)

(3)

In which year did Germany emerge as a

separate nation?

P BIO @¥ 9F o Rt wEfiAe Swm

c2f=e 2

2. Answer the following questions in brief :

2x5=10

Wﬁmﬁflﬂﬂﬁﬁwww:

(@

(b)

(c)

(d)

(e)
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Who was Necker?
PR @ Sfee 2

What was the Quadruple Alliance?

BRCIE CHarie (Quadruple Alliance) &
e 7

What is capitalism?

“{fedm el 5 2

What was the Carbonari Movement?

PRI FcwE & SfRe 2

Define social class.

A @@ &F2
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PRI SCHIE < =i 2

(e) Define social class.

AR @ 2
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(4) (S)

3. Write short mnotes on any four of the 4. Answer any four of the following questions :

following : 5x4=20 10x4=40
T TRAIEIRA R G BIRBR @2 B Gl forsi - oo 2P R CRICT Bife Ty for
{a) Voltaire (a) Discuss the causes of the French
SR Revolution.
0! Reraq IR ST 1 |

(b) What was the role of women in the

(p) July Ordinance French Revolution?

TR ST 40 e AReAPTeE & S e 2
(c) Write a detailed note on the ‘Continental
(c) Agricultural Revolution in England System’. :
e IR Reg ‘ SERICETE e’ RN b1 =R et o |

(d) Analyze the causes of the failure of the

(d) Decline of Feudalism Concert of Europe.

el WA G Rerer IR Reme 1 |
(e) What were the factors that influenced
G et the Industrial Revolution in England?
(B o SR seee P Rude aefe a1 sz &
Cﬁﬁtﬁﬁ?{ W?
() Discuss the causes and results of the
() Battle of Sedan Austro-Prussian War.
T TE w5-epRAW Al P S FAFEPR. S

9 |
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(6)

(g9 Give a detailed account about the
Bourgeoisie.

AP (A0 b1 92212, Il f&71 |

(h) What changes were brought in the -
social and gender structure of Europe
as a result of industrialization?

SUTINTIE FoTS BG@IME G SIF  for
T ARFIICS (FALRR RS Al2fee 2
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